

UBARO - DAVID AFOM

Elect/Elect.

300 level.

16/ENGG04/046.

1. Problem statement.

$$\text{IF } y = e^{2x^2} + 2x.$$

show that

$$y'' = y'(2x+1) + 2y \text{ and hence}$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(1+2x)y^{(n)}.$$

2. Using Leibnitz theorem, prove that

(i) $y = x^3 e^{2x} + 2x$, determine $y^{(5)}$

(ii) $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$. Show that $2x y^{(n+2)} + (2n+1) + (n^2+1) y^{(n)} = 0$.

Sol

(i) $y = e^{2x^2} + 2x$, $y^{(0)} = e^{2x^2} + 2x$.

$$y^{(1)} = (2x+1) e^{2x^2}.$$

$$y^{(2)} = (2x+1)(2x+1) e^{2x^2} + 2x + 2e^{2x^2} + 2x$$

$$y^{(2)} = y^{(1)}(2x+1) + 2y^{(0)}.$$

$$y'' = y'(2x+1) + 2y.$$

(ii) $y^{(2)} = y^{(1)}(2x+1) + 2y^{(0)}$.

$$0 = y^{(1)}(2x+1) + 2y^{(0)} - y^{(2)}$$

$$y^{(2)} - y^{(1)}(2x+1) - 2y^{(0)} = 0$$

$N_1 \downarrow \quad N_2 \downarrow \quad \downarrow N_3$

$$W_1 = y^{(2)}$$

$$V^{(0)} = V^{(0)} = y^{(0)}$$

$$V^{(1)} = y^{(1)}$$

$$W_2 = y^{(1)}(2x+1)$$

$$y^{(0)} = y^{(1)}$$

$$y^{(1)} = y^{(2)}$$

$$y^{(2)} = y^{(3)}$$

$$w_3 = 2y^{(1)}$$

$$y^{(0)} = 2 \quad y^{(1)} = 4y^{(0)} \quad y^{(n)} = 4^n$$

$$w_1^{(n)} - w_2^{(n)} - w_3^{(n)} = 0$$

$$y^{(n+2)} - [y^{(n+1)}(2n+1) + 2ny^{(n)}] - 2y^{(n)} = 0$$

$$y^{(n+2)} = (2n+1)y^{(n+1)} + 2ny^{(n)} + y^{(n)}$$

$$y^{(n+2)} = (2n+1)y^{(n+1)} + 2(n+1)y^{(n)}$$

(2) $y = x^3 e^{4x}$

$$y^{(0)} = x^3, \quad y^{(1)} = 3x^2, \quad y^{(2)} = 6x, \quad y^{(3)} = 6$$

$$y^{(4)} = 24e^{4x}, \quad y^{(5)} = 120e^{4x}, \quad y^{(6)} = 720e^{4x}$$

$$y^{(5)} = 5C_0 1024e^{4x} x^3 + 5C_1 256e^{4x} 3x^2 + 5C_2 64e^{4x} \cdot 6x + 5C_3 16e^{4x} \cdot 6$$

$$y^{(5)} = e^{4x} (1024x^3 + 3840x^2 + 3840x + 160)$$

$$y^{(6)} = 160e^{4x} (3215x^3 + 24x^2 + 24x + 1)$$

(i) $x^2 y'' + 2xy' + y = 0$

$$x^2 y^{(2)} + 2xy^{(1)} + y^{(0)} = 0$$

$$w_1 = x^2 y^{(2)}$$

$$y^{(0)} = x^2, \quad y^{(1)} = 2x, \quad y^{(2)} = 2$$

$$y^{(3)} = y^{(2)} \quad y^{(4)} = y^{(3)}, \quad y^{(5)} = y^{(4)}$$

$$w_2 = 2xy^{(1)}$$

$$y^{(0)} = x$$

$$y^{(1)} = 1$$

$$y^{(2)} = y^{(1)}$$

$$y^{(3)} = y^{(2)}$$

$$w_3 = y^{(0)}$$

$$y^{(0)} = 1, \quad y^{(1)} = y^{(0)}$$

$$w_1^{(n)} + w_2^{(n)} + w_3^{(n)} = 0$$

$$x^2 y^{(n+2)} + 2xy^{(n+1)} + y^{(n)} = 0$$

$$\frac{n(n-1)y^{(n-2)}}{2} + y^{(n-1)} \cdot 2x + y^{(n)} \cdot 2x$$

$$+ ny^{(n)} + y^{(n)} = 0$$

$$2x^2 y^{(n+2)} + 2xny^{(n+1)} + n(n-1)y^{(n)} + 2xy^{(n+1)} + y^{(n)} = 0$$

$$2x^2 y^{(n+2)} + 2xny^{(n+1)} + 2xy^{(n+1)} + n(n-1)y^{(n)} + y^{(n)} = 0$$

$$\therefore 2x^2 y^{(n+2)} + 2x(n+2)y^{(n+1)} + (n^2 + 1)y^{(n)} = 0$$